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3.780 i
EHEEE  h= (2.13+2.40)/2=2.265m
[12400mm % 1100%9 % T
BRERER 132.330 132.330 m
BEREERE m
T+ 4y
(0.41+0.14)x 1/2 0275 m
YEEIZE 0.275 + 1.520 + 0.470 2.265 m
JEHIE & 132.330 132.330 m
HIFER 132.330 132.330 m
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T [ T & FLQL W
2400 X 1100mmRCH 7 AIIN — 2% L.
RCHK v AN — A 3% T
BEARRAE R m 132.330
BATBIE R m 132.330
R YT AIVN =] 2400 X 1100mm
1 EEYE 2000mm & 64
2 e (NFLH) 2000mm i 2
3 gk 600 T-14 ] 2
4 2 k= VIR $ 600 H150 i 2
b wvi— Vil 4 B 45mm 7IE3] 1
HN' =N ELflE T
17— 1 18N/mm2 m3 76.22
2 IR T R m2 52.9
3 WA T RC-40 t=25cm m2 394.3
41 )H VT 1:3 t=20mm m3 7.4
+T
JEH] T
1 Sy 7R iRE] T 0.8m3 m3 1,098.4
WERLT
1 RATHRELT m3 595.3
F% AP T
1 Ay 7 RUHRAIFEIA 0.8m3 m3 437.0




L fi 1k HLAT =
I T
HRA 8 A T
il 95 ol T8
kg WU T
KHPEAK A
E T i i 12
=N E
HIlFL T ¢ 200mm & Pt 12
Col 7455 1. N m3 0.11
Bhise= 7)) —k T
a7 —k T 18N m3 0.64
R T
HFE T e m2 7.1
i I
WERR K L T
a7 —hEEL T BRI m3 30.4
a7 —hEEL T HEAT, m3 18.5
BB L
Bk A 1.524 X 6.096m t=22mm m2 92.9
B e 10
i t 16.04
KB L
+O5FE L m2 1.0
IKIFR T = 1.0




H_H g ¢ K& O FH A % &

1. Ay 7 2 Afgx T (02400 X 1100 X 2000mm, X53@1. 25<B=2. 5m, 0<H=1. 25m)

1—1. BNy ARBIER = 132.330 m
TARIERE 132.330 = 132.330 m
1—2. Ry 7 A%
N= 2400 X 1100 X 2000 : A= = 64
N= 2400 X 1100 X 2000 : =% (AFLA) = 2 {@
N= ¢ 6008k (T-14) = 2 &
N= ~vk-ViHE&) /)™ ¢ 600, H150 = 2 {@
N= vvh-ViH%&4: B, 45mm = 1 &
1—3. Ry 7 AHEET
JLRSAE R 132. 330 = 132.330 m
a7 Y — F18N/mm2 t=20cm
V= 2.880 % 0. 200 X 132. 330 = 76. 22 m3
TR P T | 48 175
S= 132.330X0. 200X 2 = 52.93 m2
Tt Eopk [RC-40, t=0. 25m
S= 2. 980X 132. 330 = 394. 34 m2

VIV BEA1:3t=0. 02m

V= 2.780X132. 330X0. 02 = 7.36 m3
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H H B X K N E K % B
2. +T
2—1. #REIL Ny 7 3 T HEAN0. 80m3
V= (3. 78+5.139) /2 X 2. 265X 132. 330 1336. 60 m3
m3,/m
Pepg i IE V= 1. 80X 132. 330 -238.19 m3
1098. 41 m3
2—2. HELTL (41
PRI 1 V= (3. 78+5. 139) /2X 2. 265X 132. 330 1336. 60 m3
YERRAR v 7 R V= 2.780X 132. 330X 1. 520 -559. 17 m3
PERR A7) - V= 2. 880X 132. 330X 0. 200 -76. 22 m3
PERR LR V= 2.980X 132. 330 X 0. 250 -98. 59 m3
PERE L X L V= 2. 780X 132. 330 X 0. 020 -7.36 m3
595. 26 m3
2 —3. TWEmRT
B - T HE+E/0.9
V=595.26 = 0.9 661. 40 m3
B A E R V= 1098. 41 1098. 41 m3
2 — 4. FEAm
V=1, 098. 41-661. 40 437.01 m3
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H H B X K N E K % B
4. BfHET
4—1. EFHRL
BUATEAEAT| ¢ 200mmAA 1R (ZEH: : 1. 728m) = 6 {&
¢ 200mmZEfH] (GEL : 1.920m) = 6 (&
7 12 &
SO BAFR L B THICET B
4 — 2. MWK DR,
T 70 72 4] = 6 1A
7 12 &
4—3. =7 Y —MHIFLL
HilFL V= 7/4X0.250"2 X0.190X 12 = 0.11 m3
SRAHCoH T MLsy V= = 0.11 m3
4—8. B V—1
18N V= (0.500X0.500 — 0.216°2X 7 /4) X0.250X 12 = 0. 64 m3
4—9. BT
FlilSin S= (0.500X0.500 — 0.216°2X 7t /4 + 0.250X0.500X3) X12

= 7.06 m2
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H H B X K N E K % B
4. fHHET
4—1. BEBOUKEEEL T
2B BERR KD V= 132.33X0. 23= 30. 44 30. 44 m3
MR- BERR KO V= 132.33X0. 14= 18.53 18. 53 m3
4— 2. HEPRL 1. 524 X 6. 096m t=22mm
B X R A S=1.5X6.0X10 92. 90 m2
K N= 10 #&
gy W=10X1.604 16.04 t
4 — 3. ERILOKETL)
T5EME T A= 1 m2
IKIRE V7 1




Boxfi#%2400 X 1100mm
CHAM T =X [HED



|
l
i
1 o
| -
! o
|
|
|
i —
|
1
/ i AN S
! o~
|
! o
' 5
| A el
|
. 0.500 0.105
. I /
| A\
T — Y
| o
~
! <y
| o
|
|
!
2.980 R
0.605 , 2.780 10605
3.990 .
[02400mm x 1100# 5% T (M TES)
BRGER 8.020 = 8.020
EEERE =
T+ Y
= 0.110
PEHIZE 0.110 + 1.520 + 0.470 = 2.100
RHIEZE R 8.020 = 8.020

HBER 8.020 = 8.020
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T [ T & FLQL W
2400 X 1100mmRCE w7 AWV — i ik L.
RCHK v AN — A 3% T
R AT m 8.020
R R m 8.020
R YT AIVN =] 2400 X 1100mm
1 FEYE 2000mm /(] 3
2 e (NFLH) 2000mm i 1
3 gk 600 T-14 ] 1
VN —pEERE T
IENZ R 18N/mm2 m3 4.78
2 IR e m2 3.2
3 M AT RC-40 t=25cm m2 23.9
4 F)LA )V T 1:3 t=20mm m3 0.5
+T
PRI T
1 37T 4EH] T 0.8m3 m3 52.8
HEL L
134T EL T m3 22.1
B AL T
1 7Ry EIFE A 0.8m3 m3 28.2
(L T
HIAA T T
1 FREIERE H=3.5m m 8.02
2 RXIE s m2 210
3 BCEM AERAALR ¢ 15cm L=2.0m m3 0.1
4 PR & t 24.80
7 L
PEROKEREEL T
1 a7 —RELT ki m3 2.9
a7 —hEL T HEAT, m3 4.0
a7 — M)W L t=10cm m 4.5




L fi 1k HLAT =
BB L
1 =Sk g 1.524 X6.096m t=22mm m2 36.0
2 B e 4
3 HE t 6.42
KB L
1 AR HEAK AT ¢ 800 m 18.0
2 O FE T m2 1.0
3 KRR T = 1
WA T
1 B AR L $ 200 m 21.9
2 —HEAE S F PR 3 B B A SF£216.3mm & E4.5mm t 0.51
WS E 1
1 PRt 2800 X 2800 X 1650 & A 1
2L —F L E '8 1




H_H g ¢ K& O FH A % &

1. Ay 7 2 Afgx T (02400 X 1100 X 2000mm, X53@1. 25<B=2. 5m, 0<H=1. 25m)

1—1. RNy 7 ARHIEE = 8.020 m
fEIER 8.020 = 8.020 m
1—2. Ry 7 2K
N= 2400 X 1100 X 2000 : £ & = 3 {
N= 2400 X 1100 X 2000 : =% (AFLH) = 1 1
N= ¢ 6008k (T-14) = 1 1H
1—3. Ay AR
FEEIE R 8. 020 = 8.020 m
27 U— F|18N/mm2  t=20cm
V=2.980%0. 200X 8. 020 = 4.78 m3
AP T | B4,
S=8.020%0. 200X 2 = 3.21 m2
T JERE|RC-40, £=0. 25m
S=2.980 X 8. 020 = 23. 90 m2

VIV B A 1:3t=0. 02m

V= 2.780X8.020X0. 02 = 0.45 m3




(2)

HOH W B K O H K B =
2. &1
2—1. @BHIT Ny 78 T 4EHI0. 80m3
V=3.990 X 2. 100X 8. 020 = 67. 20 m3
m3,/m
PEBRZERR V= 1.80Xx8. 020 = -14. 44 m3
G 52. 76 m3
2—2. HIELTL (B4
P £ V=3.990X2. 100 X 8. 020 = 67.20 m3
PEBRAN » 7 A V= 2. 780X 8. 020X 1. 520 = -33.89 m3
PEBRIECHE ) ) -] V= 2.980X8. 020 X 0. 200 = ~4. 78 m3
PEBR IR V=2.980%8. 020X 0. 250 = -5.97 m3
PERRE L Z L V= 2. 780X 8. 020X 0. 020 = -0. 45 m3
G 22. 11 m3
2—3. LWiERT
PR T T PR A 5/0.9
V=122.11 + 0.9 = 24.57 m3
P A T V= 52.76 = 52. 76 m3
2—4. Etue
V= 52. 76-24. 57 = 28. 19 m3
3. [T 30mlt v b
A A+ 88 T (H=3. 5m) = 8.020 m
HfES= 3. 5mX 2f& 7T X 30m = 210. 00 m2
LI R = = 24.80 t
BCRUM ARAK ¢ 15em L=2.0m
FrIN= 8. 020+3. 00 2.7 3 T
MifHIN= 3 X 2 = RERR
L= 0. 400m/ A X 6/ iy = 2.40 m
EN 2. 400m--2. 000m/ A = 1.2 AR
HKI115cm 1.2 A X 0.045 = 0.1m3
Pk W= = 24.80 t




3)

H H B X K N E K % B
4. fHHET
4—1. BEBOUKEEEL T
vl BEER KR D V= 8.0X0. 23= 1.84
BEGR K K@ V= 2.5X0. 43= 1.08
7 2.92 2.92 m3
- BERR KO V= 8.0X0. 14= 1.12
BEE it V= 2.91
7 4. 03 4. 03 m3
ap) - MW | BEEROKERD L= 4.50 m
(t=10cm)
4— 2. HEPRL 1. 524X 6. 096m t=22mm
B X B A S=1.5X6.0X4 = 36. 00 m2
& N= = 4 ¥
Ha W=4X1.604 = 6.42 t
4—3. REET.OKET)
IRBEARN 47 ¢ 800 L= = 18.00 m
TEHE T A= = 1 m2
VN YA _ L5t
5. BUHE T
¥k Sl L=1.728 X6+1. 920 X6 = 21.89 m
— A A FH e S SRR
D216. 3, t4. 5 N=21.89 X 23. 5kg/m = 514. 4 kg




gl i B2

ERED,
£ 1 [ = = # =
G - B2800 - L2800 - H1650 b1 = 300
A oyhrasEfr Al = 2.78 x 1.52 = 4.23 m2
TRAKEEIZERR A2 = 1.50 x 1.00 = 1.50 m2
Tk ERIZERR A3 = 1.70 x 1.20 = 2.04 m2
PERREET 7.77 m2
avy)y—+tr V =(3.40 x 3.40 - 2.80 x 2.80) x 1.65
(18-8-25BB)
+ 3.40 x 3.40 x 0.20
- 7.77 x 0.30 = 6.12 6.12 m3
B A =340 x 1.85 x 4
+ 2.80 x 1.85 x 4
- 7.71 x 4 = 14. 80 14.8 m2
i A = 3.60 x 3.60 = 12.96 13.0 m2
(t=20cm)
JL—F 9 N = 2.8x2.8 T-14 349 E| = 1 1 #
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